

SNS COLLEGE OF TECHNOLOGY



(An Autonomous Institution)
Coimbatore – 35

DEPARTMENT OF MATHEMATICS UNIT-I PARTIAL DIFFERENTIAL EQUATIONS

Type 1

$$\Rightarrow \{(a,b) = a^2 + b^2 - 4 = 0$$

$$\Rightarrow a^2 + b^2 = 4$$

$$b^{2} = 4 - a^{2}$$

$$b = \pm \sqrt{4 - a^{2}}$$

3 Solve:
$$\nabla P + \nabla Q = 1$$

Solve: $\nabla P + \nabla Q = 1$
 $\delta(P,Q) = \nabla P + \nabla Q - 1 = 0$
 $\delta(a,b) = \nabla a + \nabla b - 1 = 0$
 $\Rightarrow \nabla a + \nabla b = 1$
 $\Rightarrow b = (1 - \nabla a)^2$
 $z = a\alpha + (\sqrt{a})^2 y + c$.



SNS COLLEGE OF TECHNOLOGY



(An Autonomous Institution)
Coimbatore – 35

DEPARTMENT OF MATHEMATICS UNIT-I PARTIAL DIFFERENTIAL EQUATIONS

(3)
$$p+q+pq=0$$

$$\frac{1}{1}(p,q) = p+q+pq=0$$

$$\frac{1}{1}(a,b) = a+b+ab=0$$

$$\Rightarrow a+b+ab=0$$

$$\Rightarrow a(1+b)+b=0$$

$$\Rightarrow b=-a(1+b)$$

$$\Rightarrow a = -\frac{b}{1+b}$$

$$\therefore z = -\frac{b}{(1+b)}x+by+e$$

$$\frac{1}{3} P = q^{2}$$

$$\frac{1}{3} (p,q) = p - q^{2} = 0$$

$$\frac{1}{3} (a,b) = a - b^{2} = 0$$

$$\Rightarrow a = b^{2}$$

$$\therefore z = b^{2}x + by + c$$